NUMBER SYSTEM | PART-10
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If 83 iz divided successively by 7, 3, 2 then what
is remainders?
83 FI TR 7, 3 7= 2 & faufom fFan < a1 s =0

BFT ?
(A) 5,2, 1 (B)2,1,2
(€)6,3,5 (D)6, 3,1

When anumber is divided 4 and 5 successively
leaves remainder 1 and 4. What is the remain-
der when same number is divided by 5 and 4.
e foredt Hem & STUW 4 3R 5§ unT famn s & @
FRE SEHE: 1 Tl 4 ==dr §, STo SHl e i S 5
[T 4 | T TEam = A Srowet = B 2

(A)1,2 B2, 4

2,3 D)1,4

When a number is successively divided by 3,
4 and 7, the remainders obtained are 2, 3 and
5, respectively. What wil be the remainder
when 84 divides the same number ?

o forelt Wi = w3, 4 @i 7 9 frenfee e s
B, 0 A 2, 3 SR 5 WO W B € | 9 S, S
=1 84 W Tonfom e =, <t 9w ot 7

(CPO 24-10-2020 Shift II)
(A)71 (B) 30
(C) 48 (D) 53
When a number is successively divided by 3,

4 and 7 the remainder obtained is 2,3 and S
respectively. What will be the remainder when

42 divides the same number ?
el Tt T = whE 3,4 8 7 % Tawfea faen v
¥, A R A 2, 3 ofT S W B E | e 3 S
&l 42 F fasfor foram Smu dl ura 39w 3 e o
(CPO 25-10-2010 Shift II)
(B)31
(D) 29

(A) 41
(C) 30

A number when divided by 5 and 4 gives re-
mainder 4 and 2 respectively. What is the low-
est number?

ek G w1 oid 5 3N 4 1 faafes T < 2 a1 siawe
4 3 2 s & o U A BiE W T 2

(A) 15 (B) 14

(C)20 (D) 17

6.

10.

Find the least number when divide successively
by 5, 3, 7 leaves the remainder 2, 1, 2.

E B B B W 9 L S 5, 3, 7 9 foenfem
T S < e A 2, 1, 2 W R

(A) 142 (B) 242

(C) 246 (D) 251

The smallest no. when divided by 7, 2, 4 leaves

remainder 6, 1 and 2 respectively. If the same
number is divided by 5 what is the remainder?

g gAaH e o8 7, 2, 4 9 TWIRE 90T 99 W HTFEA
FHE: 6, 1 3R 2 e 21 8 | =i S8 Hemn 5§ 9T fam

T A IO e |
(A) 4 (B) 2
(C) 3 (D)1

If the number is successively divided by 7, 4
and 3 leaves remainder 5, 3 and 2 respectively.
If the order of divisor are reversed then what
will be the remainder?

=Ifs Wk T i w9 9 7, 4 3R 3 9 faunfem =t s g,
TS 5, 3 917 2 I § | Af Favor w8 3 ST s

T o1 FhiHe 319 9 g 7
(A) 1,3, 6 (B) 2,4, 3
(C)0,2,6 (D) 1,3,5

When a number X’ is successively divided by
9, 8 and 7 it gives remainder 4, 5 and 3 respec-
tively. Find the value of X such that it lies be-
tween 5200 and 54007

A S T X HmEE T E 9, § it 7 @ frfra gt 2,
T 7 FAM 4, 5 S 3 39 TG T | X A TH IR R0

T 5200 37T 5400 % AAE ?
(A) 5305 (B) 5314
(C) 5286 (D) None

A natural number divided by 3, 5 and 6 leaves
remainder 2, 2 and 3. If change the sequence
of divisor what is order of remainders?

=g Wekd HeE fod 3, 5 81 6 | fawfee =0 avEe
HHT: 2, 2 31 3 9T g1 § | 9iE IeTeRl w1 %9 =5e 5=
T A IO A ot TR |

(A)1,2,3 (B)4,3,1
(C)5,3,1 (D) 1,4, 2
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11.

12.

13.

14.

If a number is divided by 3, 4, 7 successively
leaves remainders 2, 1, 4 what is the remain-
der when number is divided by 847

fordi T | oA 3, 4, 7 W AT W2, 1, 4 99 W@l
T A VTS 9 A e 39 T 1 84 [ 9w e wm
(A) 53 (B) 51

(C) 11 (D)0

A natural number is divided by 2, 3, 5, 7 and 9
successively leaves remainders 1, 2, 3, 4 and
5. What is the remainder when same no. is di-
vided by 7?

Wk UFhT e faad 2, 3,5,7 7o 9 | IR anT fean
WA 1, 2, 3, 4 A0 5 9 @A § | A T w7 W A

T =g o1 $Re e |
(A) 0 (B) 2
(€)3 (D) 4

N is a natural number which is less than 1000
and also multiple of 5. N leaves remainder when
2 and 3 when successively divided by 7.and 8.
How many values of N are possible?

N T WFa TEn E, 9 1000 9 F1 E 991 5 = Toane
F19@ N = 7 o 8 § foenfom i s € 790 I
A 2 3T 3 T e € 179 N ¥ 1 fras mR dae € 2
(A) S (B)7

(C) 4 (D) 2

N is a natural number which is less than 100
and also multiple of 3. N leaves remainder 3
and 2. When successively divided by 4 and 5.
N U Wi5hd 91 3, 9 100 ¥ 7 & 7941 3 ol oave ¢ |
N =1 514 4 1R 5 9 fawfem frmn s & 6 3owa 3 e 2
T E 17 N % T8 PR T A € 2

(A) 5 (B) 7

(€) 4 (D)1
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Solution

(A) 7] 83 (11 8 (A 7lsals 3]s
_7(7'5 4113 4| 27
3| 2|2 7] 6|6
3/ 1113 2/ 311 0 0
9 2
@ @ ~ 136
. (Q) 4 37 1
394 2 A ¢ \?65 _z*
% 1 84 20075
Required answer = 2, 3 ? ) 37 3
Ay [PBEFa+3)+3)+2] 0
=[3{28s+ 23} + 2] No. = (9 x 8 x 7)K + 265
= [84a + 71] —» 504K + 265
When it is divisible by 84 then K= 10 — 5040 + 265 = 5305
Bat7l Lo o
91 = hemalnder = 10.(C) 31143 |2
(D) 3[4(7a+ 5+ 3) +2] S| 4712
= 3 [{28a+ 23)] +2 6 913
=84a+69+2 @
=84a+71 4
When divides 42 then riminder
65143123 5/23 3/ 411
e g JEL T
T 42 4207 23 ) 0
B 2l 4R &
B £ = 4R
N 11.(B
— =2(R) (B) 3137 2
4 4 45 1
= 6,10,14,18...... 7 11 4
6. (a) . 142 2 @
28 1 , . 137
% 2 Required Remainder = 3 51
7 19
gy 12.C) 5 | 5083 | 1
Min. no. = 142 al 15412
(B) 7 97 6 5| 5133
2 13 1 7| 102]4
4 6 2 S 145
@ @
27 _ Ry _ _ 3083
5 Required Remainder = = 3(R)
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13.(C) 7 156K + 23| 2
s|sK+3 |3
K

56K + 23 is also multiple of 5.

56K + 23 55K + K+ 23

5 5
K=2,7.12, 17

14.0) 4 |20k + 11| 3
5 s5K+2 |2
K

20K+11  18K+2K+11
- 3

N

K=

Tt Competitive Exams 5 Pdf Notes 3T Previous Years @5 Questions 13a1ats w53 faegsa w1
1Y el Hoe "MATHS With PAWAN RAQ" 61 Join EEJ.FITETHS_'T!

| |




